P20

HATEWNS

I F A NAEELS ML

HAT #58 LT L5 F4 =the students who are currently studying in Japan
NAUE LD NAE LD

* #1538 LT W% = <plain-style-nonpast-affirmative> of #158 LT L\& 3 = be studying now

* %?ﬁfL ¥ 9 g3 = study

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

75“ <subject particle> /

ZZ?% AN JF@ 33%% = the sentences (composition, article) about (X)’s favorite shop /

%3 <direct- object particle>

EL\’C\ =FZFX U, £LUT. =wrote and ..

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

T2AD HhIE D HU’C .,o"yki U7’co = (X) read (it) in front of classmates.

The students who are currently studying in Japan wrote the articles about their favorites shops,
and read them in front of the classmates.

BAUES
(1) 7> & A D XE = Ken’s sentences (article, composition)

bl

IS ﬁ_J?b\ ﬂ?%??o = | like sushi. /

I FE A

T Lo
HAERIC & fc<EhA FEED D XT 13, =InJapan, there are many sushi shops, aren't
there? /

el <

oD EIC & FREN HD XA NS, =because there is no sushi shop in my country, /

(AFS

S ETH ﬁEbL\Tﬂ'o = | am very happy now. /
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Ic 1F A

HAIZ =to Japan /

(122

1 ?%< M5 = because (X) will go
* ?%r < = <plain-style-nonpast-affirmative> of ?%r% F¥9 gl=9go
* [plain-style / polite-style] »*5 = because ~

2 75T M5 = after going
* [te-form] D5 = after doing ~

3 5?%%) M5 = because (X) will come
* 5?%% = <plain-style-nonpast-affirmative> of %i?‘ g3 = come
* [plain-style / polite-style] n*5 = because ~

4 ET%'C M5 = after coming
* [te-form] H 5 = after doing

wasWws

HE Ic
BRI JET BRNE U, =1 ate (sushi) at various shops. /

| ate (shushi) at various shops after coming to Japan.

MnoZ> ESS

HE
D HID JE = the shop which is located front of the school /
|& <topic particle> /
Y Y
T T=%2W\WTY, £ULT. =(X)is cheap and ....
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, ‘{[stem of i-adjective] <’ is also used to be more
formal. /

L

EUWTY, =(X)is delicious /

The sushi at the shop which is located in front of the school is cheap and delicious.

3 U El [0X
HFEH F= 72 A =the person who likes sushi /
|& <topic particle> /

Wo L &

—¥#&IC = together /
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123

1 5= % Leh% =Did (X) go?

2 ?%% FEAD, =Don’'t (X) go? / Why don’t we go (together)? Shall we go (together)?

3 ?%9 T WX UT7chH,s =Have (X) been (there)? (Did (X) go there and was he there?)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

4 ?%DT WEXEAD =Havent (X) been (there)? (Didn’t (X) go there and wasn’t he there?)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

If you are the one who likes sushi, why don’t we go (to the shop) together?

2 IVIZAD XE = Mrs Minji’s sentence (article, composition)

preL & 5H
N

F AP ER
FAl BRD dw< O KEN H =T, =1 like the book store which is located near the station. /

B5h
N

-1 A F AP
ERD i< D AKJE = the book store which is located near the station

124
1 7 =<question>

(A) or (B)
2 & =<accompaniment> with ~

(A) and (B)
3D=A)DMB)=1(A)’s(B) 2(B)on/about(A) 3 (B)from/madein (A)

4 & <topic particle>

&H HE
RKZEWJETY, =(X)is a big shop.

The book store which is located near the station is big.
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ALY FA

NE D Kb HoT WET, = They sell foreign books as well.
*58D £9 =sell
* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

L <

FAD E D £ = my country’s one also

(125

1 WX =thereis ~, have ~, exist, stay
£

2 5iH XTI =read
3 $» D X9 =thereis ~, have ~, exist
4 LE¥J =do

There are also books from my country.

Fh

blcU El D&5hH &H
ZUT, AW FE 732 BIED AH £\ TY, =And there many cooking books which are my
favorite.

126

1 2H'5 =that is way, so, therefore, for this reason
2 Tl& =if that is the case, then

3 #n H5 = after that

4 TH =but

A 2z Bh Brt  »
KIEWDH RO S O RETEVWEXT,

Therefore | alway buy books at the book store which is located near the station.

BT

El F AP
BIAIEFE 2 KED D F£IH. =Everybody, do you have any favorite book store?
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HATEWN

50 W

\ WHIIC ITZE £ Lo =1 went shopping with my friend today.

2
5T
N)2
mm 3
(’\r
il

ShAD L'f’)ix_

3 s ARIIC %ﬁ. HH& 0) DVD = the DVD of the movie which | saw three months ago /
hY/

?:%Zb?b\o fc h57TY, =because | wanted ~

* fg’l L H > fc = wanted = <plain-style-past-affirmative> of & L WT9 (want)

* [plain-style] 5 T9, =because ~ /

Because | wanted (to get) the DVD of the movie which | saw three months ago.

E’D 7= DVD = the DVD which (X) bought
ED fc = bought = <plain-style-past-affirmative> of E\Ai? g1 (buy) /

(& <top|c partlcle>/
EBREB

REY izmé: % %i@“o = | watch (it) with my friend, my elder sister, etc.

Regarding the DVD which | bought, | will watch it with my friend and my elder sister.

preL ERS 724

%) 12 SH. % LELI = What did ‘I’ do today?

EHES

kS) Z L
1 REE %E’a? E i ﬁé‘f F U7 =1wentto see a movie with my friend.

EBE

2 Zil%t DVD’aE E\:\ c 17% F U7’z =1went to buy DVD with my friend.

Z WA

3 !ﬁc‘: NET % I ‘_ré? £ UT7zs =1wentto see a movie with my elder sister
4 ilm & DVD% Eb\ IC TE £ U7, =1wentto buy DVD with my elder sister.

U‘t'
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iU (O3 w ¥ AT

D nKE TN —D & 1‘%}?75\ ’) & ZMHHb\ ’) HOHFXY, =
In my room, there are one table, two chairs and one bookshelf.

(128

[AFS ~

S0 *K}% & ENTI D =Which is (this person’s) current room?

P24

(3)
PERSEEAEN

mé/u D WLOJ J: . UAkED XEE $7b\ HHEI, =
There is a memo from Yamagichi (teacher) and a book on Mr Mori’s desk.

Fh B EAEWN

n Py
JZAT ﬁ') % FIFEEIC ED E U, =1borrowed the book which we use in the class
from Mr Nakagawa (teacher).
* ﬁ') = <plain-style-nonpast-affirmative> of ﬁb\i@“ g1 (use)

[Clw>FWN

BR—U% 25 B AE—LT <f£E W\, =Please make twenty five copies of page five (of the

book).
*AE— U E 9 g3 = copy, photocopy
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FHIRH b
dE—FE3A ICELT <L\, =As for copies, please pass them to Mr Minami.
(Please past copies to Mr Minami.)
* F L &9 g1 = pass over, hand over

Fh H 9 MNZ
K, bIZUNBEHIRULET H5. =As for the book, because | return (it to him = Mr
Nakagawa) tomorrow, (Because | return the book (to him = Nakagawa) tomorrow,)

breL 2<% 5ZX
FD HLD LI %L\’C 23 \W\, =Please put (the book) on my desk.
PELB
= from Yamaguchi
129

b HeE
HBIAF OAE—-ULIEEBET. &% £S5 UEI D, =What will Mr Mori do with the book after

making copies of it (photocopying it)? 8-

om
I AT HEWEXT, =He (Mr Mori) uses (the book) in the class.

2
B

bl
BEEA ITELET, =He (MrMori) passes (the book) to Mr Minami.

3

BhHbEAE N MNZ

)l IC IRUZE I, =He (Mr Mori) returns (the book) to Mr Nakagawa (teacher).
4

PERIBEEAEWN 2<X 5%

»
ILAEAED Ml EIC BEE£9, =He (Mr Mori) puts (the book) on Mr Yamaguchi (teacher)’s
desk.
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HATRWS

EI’FEIO) Tﬁ'ﬂat < xT ﬁ%’% LEUT, =
Last night, | worked (did my job) until late.

o
& T:b ﬁni LJT(:O =
| was very tired. (I got very tired.)

L& ThU®

ffEp %, BETIRDE U, =

| went home by train after working (after my work).
HE

* [noun] @ #(T) = after (some event), after doing

Wz ThU»

520) ﬁ-< D %RT EE;E% IZIFDilJTc_o =
| alighted from the train near my station.

z& & .
NI RTULE AN =
It was raining outside, but

brzL HaE .
FhE BEMN HDFEFHA TUTK, =
| didn’t have an umbrella.

L THRADE L, =
| was in trouble.

vE nrLu

%Rd) AD FhZz E’C\ = The station staff saw me and ..
* ET\ =B¥F Uk, £ULT. =saw (watched, Iooked) and .....
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* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

=3 Bh

he h A
D FED PO £%Z FoTLEIW, | EEWVWKU =
(He) said, ‘Please use an umbrella inside that box.
oh
*EWET g1 =use

=3 3h

i ha N SAIEA
FORICITBENIAHDFE U, =
In the box, there were three umbrellas.

Tl TR WNATT & EEELT, =

| asked him, ‘Really? Is it OK, | wonder?’
* 2o =<used to express surprise>

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .......

— A, can be changed to @.

AE [oX< he
BRD ANlE Toanig THAKR O &y 1 TY, =
The station staff (said,) ‘That is “everybody’s umbrella”.

Bald WD EHA, =

1 As for money, we don’t need it. (We don’t need money)
2 As for money, you don’t need it (to borrow). (You don’t need money (to borrow).)

» LI [

Z v w
BHH. D FEICIRLT KFESIW, 1 £ EVWE UL, =
(The station staff) said, ‘Please return it (an umbrella) to that box tomorrow.’
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— The station staff said, ‘That is “everybody’s umbrella”. You don’t need money (to borrow it).

Please return it to that box tomorrow.’

it TomDEUT. BONES SZVWET, § £ EoT. =

I sald ‘| understood (OK.) Thank you very much.” and .....

* —')T\ = .:.L\i U7co £UL T =(X)said ~ and ......

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.

Q—Igfa‘: {% nT '1% D% L7, = (l) borrowed an umbrella and went home.

* 1% nT= 1% D% UL, #ULT. =borrowed and ...

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well.

— | said, ‘OK. Thank you very much.’, and borrowed an umbrella, and went home.

(130
ZE
ESULTHRDZEUD, =Why was (he) in trouble?

1
U " A

ZE 2
": UL BFRE T BRIC &\ e H 5 = because (he) arrived at the station at the late hour
* %b\fc = arrived, reached = <plain-style-past-affirmative> of &= £ 9 g1 (arrive, reach)

l\)

L
{un $7b\ fc< & h Hofc h5S =because (he) had many jobs to do
* 3 o Iz = had ~, there was ~, existed = <plain-style-past-affirmative> of % D £ g1 (have

~, there is ~, exist)

3
oh
&ETH Enfc S =because (he) was tired, because (he) got tired
on oM
* Nz = was tired, got tired = <plain-style-past-affirmative> of J&11%£ 9" g2 (be tired, get tired)

4
hE
ZN BH > Tz 5 =because (he) didn’t have an umbrella
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* IR o fo = didn’t have ~, there wasn’t ~, didn’t exist = <plain-style-past-negative> of 3 D %
9 g1 (have ~, there is ~, exist)

P27

(131

blcL

H U
'fa1 [F BAEH £5 ULEIH. =What is ‘I’ going to do tomorrow?

1
na (=3 ah [
#% FAD I ANLE I, =I'put an umbrella in the box.

N

ha AE [}

b
7% BRD AT EUZET, =1 pass an umbrella to the station staff.

Ay el 3z £9N
-,

Rh [
BE%Z FBD PIC ANET, =1 put money in the box.

brc

v el AE (03
BE%Z RD AT EUZXI, =1 pass money to the station staff.

P28

HATLG

We study later.

P29

vy

2L\ | =cheap

&b Z 5% = Akira shop

HE &3

#8:00~7%&9:00 (H = IFBEU N5 KB < U (F7T)) =from 8:00 in the morning to 9:00 at night
ThAD

5% = telephone
012-34-5678 =2 W5 [ (D) TA LA (D) & 3K BiRIEE

el
W\ | =cheap
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2 MDUwS5SWEILE (D Uw>&o A H<

6 A 11 H(B)~ 14 H(K) =11 June (Mon) to 14 June (Thurs)
TES

fib#E = sugar

Oe<Liclw 352 A

128 M =128 yen
KL vk ~_—/{— =toilet paper

FADPLERSUSRh

490 3 =490 yen

i

Z\W\ | =cheap

2L MDUwSTIKE EA Uw3@E5ILE5 FD

6 A 15 H(ZE) ~ 18 H(HA) =15 June (Fri) to 18 June (Mon)
L&sSK

&l = soya sauce

Oe<Ew5UndEFEZA

198 M =198 yen
T4 v a1 R—)\— =tissue paper

0P <Ep5Uw>5Xh

290 M =290yen

e o2
#H &L | = every week, cheap!
2 N

B - X = Monday and Tuesday

BY). . ¥ 1—X =fits, fish, juice

7K + 7N = Wednesday and Thursday

iE:Fna% i’ﬂ( %?% = bean curd, meat, vegetables
% . :T: = Friday and Saturday

. /@5 ShiE P é_._\’.l . .
IR, &3, fa. B = bread, fresh milk, fish, vegetables

(132

i< W EoYA [ 2
HEESP T ALY M—N—E BAE FEZ RAU HIC EL 2LV TT, =I1want to buy toilet
paper and meat on the same day at Akira Shop.

Yy
WD M ZWTI D, =When are they cheap?

1 {omission}
2 {omission}
3 {omission}
4 {omission}



